% Pint 22

Lapis Lazuli has the ability to control water. If you can do the same, you'll discover something that
Lapis doesn't appreciate.

Place pipes to create a single closed water system. The central connection nodes are labeled with
letters that indicate the type of junction that occurs there. One junction is already placed for you.

I = Two pipes connect to the node in opposite directions, making a straight line
L = Two pipes connect to the node at a 90 degree angle, making an L shape

T = Three pipes connect to the node, making a T intersection

O = No pipes are connected to the node.

Each water droplet will be in a region enclosed by pipes. Regions may have more than one droplet.
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